Final - QSci 291 - Winter 2014

March 18, 2014

The first two questions are worth 15 pts each, while the rest are 5 pts each. Put

your name on the reverse side of each page.

(1) Find the critical points for the following function and determine if they are a

global. Make sure that you explore all 3 pools of potential critical points:
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(2) Use optimization to determine how close ¥iie curve of the reciprocal function
(y = 1/x with domain z € R\ {0}) comes to the the origin (0,0):
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(4) Calculate f'(x) for the following function:
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(5) Test if the following function is continuous at t = —1: 7
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(6) Find the explicit formula for sequence {—1,1/2,—-1/3,1/4,-1/5, ...}
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